
       EMULSION MIXING UNIT   Article list

  

Art. Nr. Modell Bemerkung Color  Anzahl

Art. No. Model Remark RAL  Einheiten

14-20202 S-1502A LESTOL Emulsion mixing unit 0-ca.20% Automat 7038  
Emulsion mixing unit, Screwing for pipe 3/4"   

Suction hose 1000 mm with suction basket and check valve   
  Outlet hose 1100 mm with outlet pipe; Barrel flange    

14-20320 S-1520 LESTOL Emulsion mixing unit 0-ca.20% Manual   
Emulsion mixing unit, Screwing for pipe 3/4" schwarz / black

Suction hose 1000 mm with suction basket and check valve   

  Outlet hose 1100 mm with outlet pipe; Barrel flange   

14-20340 S-1540 LESTOL Emulsion mixing unit 0-ca.40% Manual   
Emulsion mixing unit, Screwing for pipe 3/4" schwarz / black

Suction hose 1000 mm with suction basket and check valve   

  Outlet hose 1100 mm with outlet pipe; Barrel flange   

14-22014 Wall mounting kit    

    

14-22001  Valve ingot  

14-22002 Bolt standard for S-1500 / S-1500A 0-20%  

14-22003 Jet

14-22004 Nipple long

14-22005 Nipple short

14-22006 Barrel flange

14-22007 Pipe fitting

14-22008 Outflow nipple

14-22009 Ventilation nipple

14-22010 Nipple for ball valve

14-22011 Outlet pipe

14-22012 Casing for S-1500

14-22013 Scale plate

  

14-22017 Spring

14-22018 suction basket

14-22019 Button

14-22020 Check valve

14-22021  

14-22022 Hose connector Nylon straight 1/2"

14-22023 Hose connector 90° 1/2"

14-22024 Outlet hose 1100 mm ID/AD = 16/25 mm

14-22025 Suction hose 1000 mm ID/AD = 19/24 mm

14-22026 Check valve for valve ingot

14-22027 Ball valve

14-22028 Screwing for pipe G 3/4"-16mm

14-22029 Cylindrical pin

14-22030 Ring stop

14-22031 O-ring nitril 14 x 2,5 mm

14-22032 O-ring nitril 20 x 1,5 mm

14-22033 O-ring nitril 17 x 1,5 mm

14-22034 Hose clamp

14-22035 Hose clamp

  

14-22050 Casing for S-1520, S-1540

14-22051 AC/AC Adapter for S-1502A automatic unit

  

14-22060 Bolt for S-1520 0-20%

14-22062 Bolt for S-1540 0-40%

  

14-22113 Casing for S-1502A automatic unit

    

 

Units

Replacement parts

Lestol_EMG_Artikeluebersicht.xlsx_E 1 / 1


